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Science Test
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a positive (+) correlation betucen an anilals hear:
breathin; rate,
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528 oxy_ en to buru food.
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5. hnere 15 no corirelation betueon thé speec an anioal can run and
his heari rate.

H

best vay to colpare tTuo roups is oy averaje,

7. vrzanization of data sakes it easier to anaiyze,
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v, WXysen eleans our blood,
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v\W{/ﬁnoro is a positive (t) correlation betusen the .ass and .axi su.
aie of aniiais,
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lj“ 4., in ari.al oreathes iore when he runs because he burns oxygen for

enersy.
“L, #¥1li in the blank, = LJ’
Jagn an anizal runs Yaster he needs .iore _ ep. . . so he
breathes faster to get the OX €N _____ he peeds to burn the

,B.fQOdvmm_Tw:wu Hio Hﬁdl‘ 7" ... then speeds up to aove the

blood throush the body so it can carry the Qéizgiygwrwmm_to als

parts of the bLody.

[il, Jrue or talse -~ Lote instructions with each probisu,

1., Jdoys run faster than girls. (Frove by average)

. Speed for 50 yards
dob 7.2 Jili
. 70
Jim 6.8  SGF

Jou 7.0
John $.o 7'0 —

Bill 7.4 catty
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wane
oy
uick
Jiz
ralph
doe
Hob
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3510
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Whale

Mouse
sabbit
s.an
Lo

Horss

Jali peoplo live longer.

140
200
160
150
180
210
170

g0 years
5 years
12 years
70 years
20 years
50 years

welsht rulse
175\ Y3
1557 71
205\ 30
1957\ 75
220~ 81
140~ 63
180 76

Jeavy people have hirher heart rates. (<rove by ordersd list)

220 —F%!
ALPE—30
| 96 — &
| §06 — 76
175 7
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| YO~—6%

5, Toll peopre uelph _ore, (Choose oun proof)
wee L 0150T

77— 210
70— 200
69"— 1 g0
6g"— 170
6§77 — 160
€6 —170

cyr—1tio

3yr — Mouse

1
20
50
70
g0

deigsht «= [ 0 at death

¥
0"

60"
62r
o8
66!1
61*11

72 yrs,
75 yrsO
76 yrs,
73 yrs,
8 yrs,
78 yrs.,

— Rabbir
—De

— Hone
— Man
—Wf\ulﬁ

{+rove by graph)

L, oaall aniiials live longer., (frove by ordered 1list)
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LV, wre the fol.iovip, positive (), nejative («), or no corrclation,
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